ASS. REC. BY:	(grue	2007538 Rpa3 54711
	ASS	IGNMENT
	Date:	Veh No: SMM 6036K Yr Regn: 2019 July
From:	Date.	Type: M.Car / M.Cycle / Bus / Van / Lorry / Taxi / Prime Mover /
Estimated Cost:		Truck / Trailer or
	RES / OD RES / EVA / INV / MV	Manual Indiana of the August and Tudy
To Inspect Vehicle	No: SMM 6036K	Make: MAZDA AXELA (SXD MV c.c 1498 Colour NAK A/C: Insured / Std / NI / NA
at Workshop m/s	My LAN CONSTITANT	DOUGH DATAL
of 60,32	u Lam Anax \$05-21	Sp.Reading 706546 T/Radio: Insured / Std / NI / NJ
Insured:	LPC	Eng/No:
PolicyNo.		CNO: BNLTP101418
Claims No.		Gen. Cond: Good / Fair Poor / Burnt
Sum Insured:	Excess:	Steering: Inorder / Jammed / Leaked / Burnt or
(Client's Record)	Brake: (norder / Jammed / Leaked / Burnt or
Make of Veh:		Modi: Nil / S/Rim / STD A/Rim or
		Tyre Size: F: 205 55 R 6
(Policy Conditio	in)	R:
	had commenced its N/S O/S	BS / DUN / EXNOVA / GY / FS / LIZA /MID / OHTSU / PIR / SUMI /
repair a	at the time of inspection.	TOYO/YOKO or
Bal, or Market Va	alue: 81K	Front Rear
IDAC Accident R		R/Bal. 6 mm R/Bal. 6 mm
GIA / PR Seen:		L/Bal. 6 mm L/Bal. 6 mm
Est. Repairs:	days Res.: Yes or No	D.O.A. 03/08/22 D.O.I. 10/08/22
Lum Sum:	% 3 Val.: Yes or No	Survey held at MY CMP CONSULTPAT
	Translation (1986)	Des. of Damages : Frt / Rear / O/S / N/S / U/C / Rooftop or
CA / REV /	REP. 1 24 HRS Vehicle: IN / OU	이 시간을 되어 있다는 물로 하게 되었다. 그 이 사람들은 사람들은 사람들이 가는 사람들은 사람들이 되었다.
Date:	Person Contacted:	The U/C / Chassis frame / Body Structure affected due to collision
Date / Time	Action / Instruction	
	repair Limit—48K	
ing in an and. Dengan an	نسر پرخان <u>سندن د</u> در	
دامار د واستواب د ب ب مورد		
Date/Time, File Pass		Days Of Repair:
	: Final Report	Resurvey No. of Trip: Survey Fee:
1)		
1) Date/Time, File Retu		Transportation:
1) Date/Time, File Retu 2)	m to? Add Fe	
2)	Add Fe	
	Add Fe	ee:: Site Insp (\$)s+Rssi

MY CAR CONSULTANT PTE LTD (Co Reg. No. 201605878Z) **60 JALAN LAM HUAT CARROS CENTRE** #05-68 (S737869)

то

: NTUC INCOME

DATE : 10-Aug-22

ATTENTION

: MOTOR CLAIMS DEPT

JOB TYPE : T/P CLAIM

VEHICLE DETAILS

VEHICLE NO : SMM6036K

MODEL : MAZDA AZELA

THIRD PARTY REQUESTOR / CONTACT : DAUD/93911482

QUOTATION SUMMARY

CLAIM DETAIL: PARTS

S/N	DESCRIPTION	QTY	ľ	INIT LIST PRICE	T	OTAL LIST PRICE
1	FRONT BUMPER &	1	\$	1,264.40	\$	1,264.40
2	FRONT BUMPER TOWING COVER Cod	1	\$	45.60	\$	45.60
3	FRONT BUMPER LOWER GRILLE 🗡	1	\$	308.50	\$	308.50
4	FRONT BUMPER REINFORCEMENT 7	1	\$	750.10	\$	750.10
5	FRONT BUMPER REINFORCEMENT SPONGE	1	\$	285.60	\$	285.60
6	FRONT BUMPER SIDE RETAINER 🐓 🗶	2	\$	86.50	\$	173.00
7	FRONT BUMPER LOWER COVER	1	\$	189.20	\$	189.20
8	FRONT FOG LAMP 🗶	2	\$	321.00	\$	642.00
9	FRONT FOG LAMP GARNISH 🗡	2	\$	277.80	\$	555.60
10	FRONT GRILLE CM	1	\$	970.10	\$	970.10
11	FRONT GRILLE CHROME MOULDING CAR	1	\$	352.20	\$	352.20
12	FRONT GRILLE EMBLEM MA	1	\$	104.90	\$	104.90
13	FRONT GRILLE TOP GARNISH ?	1	\$	320.50	\$	320.50
14	FRONT GRILLE SUPPORT BRACKET ?	2	\$	89.00	\$	178.00
15	BONNET LOCK X	1	\$	298.20	\$	298.20
16	HEADLAMP AH -? /LH - X	12	\$	1,623.30	\$	3,246.60
17	FRONT SUPPORT PANEL 🗡	1	\$	886.90	\$	
18	FRONT SUPPORT PANEL TIE BAR X	1	\$	287.60	\$	886.90
19 F	RADIATOR AIR GUIDE X	1	\$	135.30		287.60
20 F	FRONT SUPPORT PANEL UPPER GARNISH X	1	<u>*</u> \$		\$	135.30
- 1	RONT SUPPORT PANEL LOWER GARNISH X	2		68.00	\$	68.00
	C CONDENSER	1	\$	51.10	\$	102.20
23 A	IR INTAKE DUCT ASSY X		\$	976.30	\$	976.30
	ORN X	1	\$	188.90	\$	188.90
	/IPER WASHER TANK 🗡	2	\$	96.30	\$	192.60
700-	THE PARTY IN THE P	1	\$	169.30	\$	169.30

					_	
26	RADIATOR 🛧	1	\$	1,527.50	\$	1,527.50
-	RADIATOR RESERVE TANK	1	\$	92.90	\$	92.90
	REVERSE SENSOR 7	2	\$	290.00	\$	580.00
	REVERSE SENSOR WIRE HARNESS	1	\$	170.60	\$	170.60
10.00	REAR BUMPER	1	\$	1,023.90	\$	1,023.90
	REAR BUMPER REFLECTOR X	2	\$	154.30	\$	308.60
	REAR BUMPER TOWING COVER MIS	2	\$	58.30	\$	116.60
	REAR BUMPER RETAINER	2	\$	79.80	\$	159.60
	REAR BUMPER CENTER BRACKET 7.	1	\$	19.80	\$	19.80
	REAR BUMPER REINFORCEMENT 7	1	\$	796.70	\$	796.70
	REAR BUMPER SIDE COVER 🔸	2	\$	72.30	\$	144.60
	BOOT LID 14/	1	\$	1,499.40	\$	1,499.40
_	BOOTLID LAMP LH-7 RH-CA/	2	\$	565.40	\$	1,130.80
- 1	BOOT LID HINGE +	2	\$	120.80	\$	241.60
	BOOT LID LOCK ASSY X	1	\$	280.40	\$	280.40
	1 BOOT LID STRIKER X	1	\$	56.20	\$	56.20
4	2 BOOT LID STOPPER M	2	\$	18.10	\$	36.20
4	3 BOOT LID EMBLEM M	1	\$	108.90	\$	108.90
4	4 BOOT LID EMBLEM "AXELA" M	1	\$	94.70	\$	94.70
4	5 BOOT LID EMBLEM "SKYACTIVE"	1	\$	87.50	\$	87.50
4	6 BOOT LID WEATHER STRIP	1	\$	172.80	\$	172.80
4	7 BOOT LID INNER TRIM 🗡	1	\$	398.70	\$	398.70
4	8 BOOT LID DETECTOR X	1	\$	314.00	\$	314.00
4	9 BOOT LID DETECTOR INNER 7	1	\$	311.00	\$	311.00
_ 5	TAILLAMP 7	2	\$	1,040.40	\$	2,080.80
_ 5	1 TAILLAMP PANEL X	2	\$	398.00	\$	796.00
_ 5	2 REAR END PANEL 14/ photo	1	\$	676.30	\$	676.30
_ 5	3 REAR END PANEL TOP GARNISH	1	\$	180.10	\$	180.10
_ 5	4 REAR FLOOR PANEL X	1	\$	1,086.90	\$	1,086.90
_ 5	5 REAR FENDER PANY	2	\$	1,159.00	\$	2,318.00
_ 5	66 REAR FENDER SIDE INNER TRIM	2	\$	644.00	\$	1,288.00
_ 5	7 REAR FENDER INNER COWLING X	2	\$	159.00	\$	318.00
	8 REAR FLOOR PANEL MAT	1	\$	294.20	\$	294.20
	9 REAR FLOOR PANEL TOP SPONGE	1	\$	389.00	\$	389.00
6	0 REAR FLOOR PANEL TOP BOARD ★	1	\$	245.70	\$	245.70
6	1 REAR EXHAUST PIPE 🔸	1	\$	985.20	\$	985.20
_ 6	2 REAR EXHAUST MOUNTING 🗡	2	\$	19.20	\$	38.40
		TOTAL	DDI	` E	æ	22 064 20

TOTAL PRICE \$
LESS 20% \$
SUB TOTAL PRICE \$

\$ 33,061.20 \$ 6,612.24 **\$ 26,448.96**

S/N	DESCRIPTION	QTY	UN	NIT S/NETT	тота	L S/NETT	
1	NUMBER PLATE My/fort	12	\$	50.00	\$	100.00	35
2	FRONT BUMPER CLIP SET	1	\$	65.00	\$	65.00	30
3	FRONT BUMPER LOWER GRILLE CLIP SET 🏎 /	1	\$	38.00	\$	38.00	> 0
4	BONNET INSULATOR CLIP SET	1	\$	65.00	\$	65.00	×
5	FRONT GRILLE CLIP SET	1	\$	30.00	\$	30.00	20
6	FRONT SUPPORT PANEL SEALANT	1	\$	80.00	\$	80.00	X
7	RADIATOR COOLANT +	3	\$	45.00	\$	135.00	\times
8	REAR NUMBER PLATE	1	\$	50.00	\$	50.00	X
9	REAR BUMPER CLIP SET W	1	\$	65.00	\$	65.00	30
10	TAIL LAMP CLIP SET	1	\$	35.00	\$	35,00	юX
11	TAIL LAMP PANEL SEALANT	2	\$	80.00	\$	160.00	X
12	REAR FENDER SIDE INNER TRIM RH CLIP SET W	-/1	\$	65.00	\$	65.00	30
13	REAR END PANEL SEALANT	1	\$	80.00	\$	80.00	30
14	REAR FLOOR PANEL SEALANT	2	\$	80.00	\$	160.00	X
15	REAR FLOOR PANEL INSULATOR	1	\$	250.00	\$	250.00	X

\$ 1,378.00

TOTAL

CLAIM DETAILS: LABOUR AND SPRAY PAINTING (FRONT)

CLA	IN DETAILS, LADOUR AND SERAT FAIR	11140	(FRONT)		
1	CUT OFF AND REPLACE FRONT SUPPORT PANEL. RESTRUCTURE FRONT CRASH MANAGEMENT COMPONENT AND RENEW OTHER DAMAGE PARTS.	\$	1,000.00	300	
2	SPRAY PAINTING ON DAMAGE AND AFFECTED AREA.	\$	890.00	200	
3	DISMENTLE AND REPLACE A/C CONDENSER ASSY. REFILL, RECHARGE A/C REFRIGERANT GAS AND PERFORM PRESSURE TEST.	\$	180.00	×	
4	REMOVE AND INSTALL RADIATOR ASSY. PERFORMED RADIATOR PRESSURE TEST	\$	150.00	X	
5	ADJUST AND FOCUS FRONT LIGHTING SYSTEM. PERFORM HEADLAMP ADJUSTMENT TO POSITION	\$	80.00	307	
6	REMOVE AND INSTALL ENGINE WIRE HARNESS. RESET ENGINE WARNING LIGHT SYSTEM WITH ON-BOARD DIAGNOSTIC COMPUTER.	\$	150.00	X	

CLAIM DETAILS: LABOUR AND SPRAY PAINTING (REAR)

CUT OFF, REPLACE REAR END PANEL AND FLOOR PANEL. STRAIGHTEN, REALIGN REAR CHASSIS FRAME AND RENEW OTHER DAMAGE PARTS.	\$ 1,800.00	1000	
SPRAY PAINTING ON DAMAGE AND AFFECTED AREA.	\$ 1,400.00	(000	

NTLE AND INSTALL EXHAUST	\$	120.00	*	
VE AND INSTALL REAR PARKING OR AND WIRING HARNESS. ORM DISTANCE SENSORY	\$	150.00	40	
W REAR FLOOR INSULATOR.	\$	100.00	X	
ENTLE AND INSTALL REAR S, SPEAKER BOARD AND SEATS MING.	\$	150.00	X	
ORM REAR LIGHTING WIRING CK AND TEST FUCTION.	\$	89.00	30	
OVE AND INSTALL REAR MULTI- CAMERA ASSY. PERFORM IG AND ADJUST TO POSITION.	\$	200.00	*	
DUCT WATER LEAKAGE ON DING JOINT AREA.	\$	100:60	30	
ISFER BOOT LID ATTACHMENT MECHANISM INTO NEW POWER T LID ASSY. RE-ALIGN TO TION.	\$	200.00	60	
Y TUFF COATING TREATMENT.	\$	200.00	80	
	YSTEM TO ENABLE REPAIRS. YE AND INSTALL REAR PARKING OR AND WIRING HARNESS. ORM DISTANCE SENSORY NG. W REAR FLOOR INSULATOR. ENTLE AND INSTALL REAR S, SPEAKER BOARD AND SEATS MING. ORM REAR LIGHTING WIRING OK AND TEST FUCTION. DVE AND INSTALL REAR MULTICAMERA ASSY. PERFORM ING AND ADJUST TO POSITION. DUCT WATER LEAKAGE ON DING JOINT AREA. ISFER BOOT LID ATTACHMENT MECHANISM INTO NEW POWER T LID ASSY. RE-ALIGN TO TION.	YSTEM TO ENABLE REPAIRS. YE AND INSTALL REAR PARKING OR AND WIRING HARNESS. ORM DISTANCE SENSORY NG. W REAR FLOOR INSULATOR. ENTLE AND INSTALL REAR S, SPEAKER BOARD AND SEATS MING. ORM REAR LIGHTING WIRING EX AND TEST FUCTION. OVE AND INSTALL REAR MULTI- CAMERA ASSY. PERFORM ING AND ADJUST TO POSITION. DUCT WATER LEAKAGE ON DING JOINT AREA. USFER BOOT LID ATTACHMENT MECHANISM INTO NEW POWER IT LID ASSY. RE-ALIGN TO TION. \$	YSTEM TO ENABLE REPAIRS. \$ 120.00 WE AND INSTALL REAR PARKING OR AND WIRING HARNESS. ORM DISTANCE SENSORY NG. \$ 159.00 WE REAR FLOOR INSULATOR. \$ 100.00 ENTLE AND INSTALL REAR S, SPEAKER BOARD AND SEATS MING. \$ 150.00 ORM REAR LIGHTING WIRING EX AND TEST FUCTION. \$ 80.00 OVE AND INSTALL REAR MULTI- CAMERA ASSY. PERFORM IG AND ADJUST TO POSITION. \$ 200.00 OUCT WATER LEAKAGE ON DING JOINT AREA. \$ 100.00 OUCT WATER LEAKAGE ON DING JOINT AREA. \$ 100.00 SEFER BOOT LID ATTACHMENT MECHANISM INTO NEW POWER IT LID ASSY. RE-ALIGN TO TION. \$ 200.00	YSTEM TO ENABLE REPAIRS. YE AND INSTALL REAR PARKING OR AND WIRING HARNESS. ORM DISTANCE SENSORY NG. W REAR FLOOR INSULATOR. ENTLE AND INSTALL REAR S, SPEAKER BOARD AND SEATS MING. ORM REAR LIGHTING WIRING EK AND TEST FUCTION. OVE AND INSTALL REAR MULTICAMERA ASSY. PERFORM IG AND ADJUST TO POSITION. DUCT WATER LEAKAGE ON DING JOINT AREA. USFER BOOT LID ATTACHMENT MECHANISM INTO NEW POWER TLID ASSY. RE-ALIGN TO TION. 120.00 7 46 150.00 7 160.00 7 160.00 7 160.00 7 160.00 7 160.00 7 160.00 8 17 180.00 7 180.00 7 180.00 8 180.00 7 180.00 8 180.00 180.00 180.00 180.00 180.00 180.00 180.00 180.00 180.00 180.00 180.00 180.00 180.00 180.00 180.00 180.00 180.00 180.00 180.00 180.00 180.00 180.00 180.00 180.00 180.00 180.00 180.00 180.00 180.00 180.00 180.00 180.00 180.00 180.00 180.00 180.00 180.00 180.00 180.00 180.00 180.00 180.00 180.00 180.00 180.00 180.00 180.00 180.00 180.00 180.00 180.00 180.00 180.00 180.00 180.00 180.00 180.00 180.00 180.00 180.00 180.00 180.00 180.00 180.00 180.00 180.00 180.00 180.00 180.00 180.00 180.00 180.00 180.00 180.00 180.00 180.00 180.00 180.00 180.00 180.00 180.00 180.00 180.00 180.00 180.00 180.00 180.00 180.00 180.00 180.00 180.00 180.00 180.00 180.00 180.00 180.00 180.00 180.00 180.00 180.00 180.00 180.00 180.00 180.00 180.00 180.00 180.00 180.00 180.00 180.00 180.00 180.00 180.00 180.00 180.00 180.00 180.00 180.00 180.00 180.00 180.00 180.00 180.00 180.00 180.00 180.00 180.00 180.00 180.00 180.00 180.00 180.00 180.00 180.00 180.00 180.00 180.00 180.00 180.00 180.00 180.00 180.00 180.00 180.00 180.00 180.00 180.00 180.00 180.00 180.00 180.00 180.00 180.00 180.00 180.00 180.00 180.00 180.00 180.00 180.00 180.00 180.00 180.00 180.00 180.00 180.00 180.00 180.00 180.00 180.00 180.00 180.00 180.00 180.00 180.00 180.00 180.00 180.00 180.00 180.00 180.00 180.00 180.00 1

TOTAL

6,860.00

ESTIMATE REPORT

TOTAL PARTS COST TOTAL LABOUR COST TOTAL REPAIR COST

27,826.96 6,860.00 \$ 34,686.96

LKK Auto Consultants hence nouty

- the Repairer of the following:
- . To resurvey before/after spray painting To display demaged part(s) during resurvey
- Parts prices are subject to confirmation
- Third party survey is on a "Without Prejudice" basis
- No illegal modification(s) is allowed
- Supplementary item(s) must be resurveyed and is subject to final approval from Insurance Company

Acknowledged by Repairer

Panel
Hp 900100 l8
8 days
4
10/08/22 P 1710
Ross after raph

SM1822850002 / MY CAR CONSULTANT PTE LTD ENTRY DATE & TIME: 06/08/2022 00:17 (SGT) SUBMITTED BY: Jackson Ho Zhao Tian VERSION: 1 (06/08/2022 00:17 (SGT))



SINGAPORE ACCIDENT STATEMENT

IMPORTANT NOTICE

1. Please report correctly the details of the accident to speed up the claims process.

2. This Form must be completed by the Policyholder and/or the Actual Driver

3. Information provided must be as truthful and accurate as possible. Any wilful misrepresentation or witholding of material facts may allow insurance companies to repudiate policy liability.

4. The issue and acceptance of this Form by insurance companies is not an admission of policy liability on the part of the insurance companies.

5. Any false reporting may be referred to the Police for investigation.

6. This report will be forwarded by the insurers of the GIA Records Management Centre established by the General Insurance Association of Singapore (GIA) for archiving and that copies of this report will, for a fee, be made available upon application by interested parties.

7. By the lodgement of this report to the insurers, you hereby consent to the archiving of this report at the centre and to copies of the report being made available aforesaid.

ACCIDENT STATEMENT

Date of Submission 06/08/2022 00:17 (SGT) Reported by Driver Date of Accident 03/08/2022 12:15 (SGT) Exact Location of Accident Alexandra Rd, Singapore Additional Location Information Country/State of Loss Singapore

DETAILS OF OWN VEHICLE

Vehicle Registration Number SMM6036K

INSURED/POLICYHOLDER

Is company? Yes Name Of Registered Owner **Orange Express** Company Reg No 5XXXX547K Email Address kim@freshcars.sg Mobile Phone No (Phone) +65-88156670 Alternative Phone No

VEHICLE PARTICULARS

Manufacturer Mazda Model Axela Exact purpose for which vehicle was being used at time of accident Private hire

Are you claiming under your own insurance policy for repair to your vehicle?

Vehicle Category **Transmission**

CC

No - Claiming third party Private hire

Auto

INSURANCE COMPANY

Name of Insurance Company Policy Number / Cover Note Number

India International Insurance Pte Ltd D22MFL0004228

DRIVER

Name of Driver NRIC No Date Of Birth Occupation

Mohamed Azahar Bin Abd Rahman SXXXX020F 02/07/1969 Outdoor

Accident report SM1822850002

Pale Of Driving Pass priving experience 01/11/1996 25 YEARS AND 9 MONTHS Gender Mobile Number Male (Phone) +65-88156670 Alt. Phone Number Email Address kim@freshcars.sq Address Blk 204 Marsiling Drive Address complement #05-208 Postcode 730204 Is the driver the policyholder? If No, Relationship of the Driver with the Insured No Hirer Does Driver Own Other Vehicles? No Vehicle Registration Number of Other Vehicle Owned by Driver Insurance Company of Other Vehicle Owned by Driver GENERAL INFORMATION OF THE ACCIDENT Type of Accident **Chain Collision** Weather Conditions Drizzling Road Surface Wet OTHER INFORMATION Was any foreign vehicle involved in the accident? No Number of vehicles involved in the accident Was anybody injured in the Accident? Yes Was any injured conveyed to hospital by ambulance? Was any other vehicle or property damaged? Number of Passengers (Including Driver) Has the driver been approached by unknown person(s) No soliciting/offering accident claims assistance? Translator's name Translator's ID Translator's phone number Translator's email Original language used in the statement PASSENGER 1 Name **Female** Gender **DETAILS OF POLICE ACTION** Was the accident reported to the police? Yes Police Station Name **Bukit Panjang North Neighbourhood Police Post Police Station Address** Blk 27 Marsiling Drive Singapore 730027 Was notice of intended Prosecution given? No If ves, against whom? CIRCUMSTANCES OF ACCIDENT

Refer to police report - T/20220805/2067

ATTACHMENT(S)

Are accident photos available for attachment? Was there any video captured by Car Camera?

Yes Yes

DETAILS OF OTHER VEHICLE PROPERTY 1

Vehicle Registration Number Vehicle Manufacturer

GBA5784J



Vehicle Model	_
Vehicle Variant	_
Vehicle Colour	_
Vehicle Category	Commercial vehicle
Name of Driver	Wang Mingzhou
Work Permit No	0XXXX2744
Contact Number	-
Address	_
Address complement	-
Postcode	-
Insurance Company Name	-
Nature Of Damage	-
	-
Details of property damaged in accident	•
No. Of Passenger (Including Driver)	-

DETAILS OF OTHER VEHICLE PROPERTY 2

Vehicle Registration Number	SLV2557
Vehicle Manufacturer	-
Vehicle Model	
Vehicle Variant	-
Vehicle Colour	-
Vehicle Category	- Drivete een
Name of Driver	Private car
NRIC No	Rene Wu Cairu
Contact Number	SXXXX547H
Address	(Phone) +65-90723243
Address complement	-
Postcode	• .
	-
Insurance Company Name Nature Of Damage	-
	· -
Details of property damaged in accident	
No. Of Passenger (Including Driver)	-

INJURED PERSONS DETAILS

INJURED 1

Mohamed Azahar Bin Abd Rahman
Mondined / Zanar Din Abu Naminan
-
-
-
-
-
Body
SMM6036K
Yes
No

<i>SD 1</i>	Add His	
Peifer	- police Har	
Declaration		
IWe declare the foregoing perticular	re are true in every respect.	
ORANGE EXPRESS UEN: 53388547K		
Policyholder's Signature / Date &	Driver's Signatura (if driven is not the policyholder) / Data	Witnessed by Reporting Centre

BKETCH PLAN

IMPORTANT NOTICE

- 1. Please report <u>correctly</u> the details of the accident to speed up the claims process.
- 2. This Form must be completed by the Pollsyholder and/or the Authorised Driver.
- 3. Information provided must be as truthful and accurate as possible. Any will interspresentation or withholding of material facts may allow insurance companies to reguliate policy liability.
- 4. The Issue and acceptance of this Formby Insurance companies is not an admission of policy liability on the part of the insurance companies.
- 5. Any false reporting may be referred to the Police for layer tigation.
- 6. The report will be forwarded by the insurers of the GIA Records Management Centre established by the General Insurance Association of Singapore (GIA) for archiving and that copies of this report will for a fee be made available upon application by interested parties.
- 7. By the ladgement of this report to the insurers, you hereby consent to the archiving of this report at the centre and to copies of the recort being made available aforesaid.
- 8. Consent under the Personal Data Protection Act (PDPA)

I understand, acknowledge, agree and consent that :

- (a) My Insurer, my workshop and the General Insurance Association of Singapore ("GIA") may/are permitted to collect, use, disclose and/or process my personal deta/personal information set out in this [form] and any other personal information provided by me or possessed by my insurer (collectively the "Personal Information") and discipes and transfer such Personal Information to all insurer(s) w ho have insured vehicle(s) involved in this ecoident (all insurer(s) who have insured vehicle(s) involved in this ecoident shall be colectively referred to as the "insurers"), the insurers' law yers/law firms, the Monetery Authority of Singapore and any relevant government agency/authority (such as the police), for the purpose(s) of :
- (i) processing, handling and/or dealing with my claims including the settlement of the claims and any necessary investigations relating to the claims;
- (II) investigating the accident and/or my claims;
- (iii) carrying out and/or dealing with my instructions or responding to any enquiries by me;
- (Iv) administering my claims (including the mailing of correspondence, stelements, invoices, reports or notices to me, which could involve disclosure of certain personal data about me to bring about delivery of the same as well as on the external cover of envelopes/mail packages); and/or
- (v) complying with applicable law in administering, processing, handling and/or dealing with my claims. (collectively the "Purposes")
- (b) all insurer(s) who have insured vehicle(s) involved in this accident and the insurers' law yers faw. firms, may fare permitted to collect, use, declose and/or process my Personal information for one or more of the above Purposes; and
- (c) my Personal Information may/can be disclosed by any of the insurers end/or GIA to their third party service providers or agents (including their law yers/law firms), which may be alled outside of Singapore, for one or more of the above Purposes.

ORANGE EXPRESS UEN: 53388547K

Policyholder's Signature / Date &

Sketch Plan

Driver's Signature (if driver is not the policyholder) / Date

Witnessed by Reporting Centre

A: Smm 6036K

B: GEA 5784J

c: 8LV 2557

Enquire PARF/COE Rebate for Registered Vehicle

Owner ID Type:	Business
Owner ID:	547K 25 25 25 25 25 25 25 25 25 25 25 25 25
Vehicle No.:	SMM6036K
Vehicle to be Exported:	
Intended Deregistration Date:	11 Aug 2022
Vehicle Make:	MAZDA
Vehicle Model:	AXELA 1.5XD AUTO
Primary Colour:	Black
Manufacturing Year:	2019-
Engine No.:	\$530435841
Chassis No.:	BMLFP101418
Maximum Power Output:	77.0 kW (103 bhp)
Open Market Value:	\$25,066.00
Original Registration Date:	05 Jul 2019
First Registration Date:	05 Jul 2019
Transfer Count:	
Actual ARF Paid:	\$17,093.00
PARF Eligibility:	Yes
PARF Eligibility Expiry Date:	04 Jul 2029
PARF Rebate Amount:	\$12B19.00
COE Expiry Date:	= 04 Jul 2029
COE Category:	A - Car up to 1600cc & 97kW (130bhp)
COE Period(Years);	10
QP Paid:	\$28,589.00
COE Rebate Amount:	\$19,717.00
Total Rebate Amount	\$22.53AM

The information contained herein is correct as at 11 Aug 2022

Mazda Axela Diese 1.5A

Overview

Financial

Accessories

Similar

Research

Pholos

Map



Heriber of





Price

Depreciation (*)

\$10,530 /yr

View models with similar depre

Kar Date

01=Jul=2019

(6yrs 10mths 19days COE left)

Mileage

33,000 km (10.6k/yr)

Manufactured (?)

2019

Roard Tax

\$1,084 /yr

Airn

Dereg Value

\$31,424 as of today (change)

Fuel Type

Diesel

(Euro 5 Engine and Above)

COE

\$27,000

0)MV:

\$25,066

Engine Cap

1,498 cc

ARF 📑

\$17,093

Curb Weight

1,360 kg

Power

77.0 kW (103 bhp)